


The cancer patient is comparatively better (A) / today and the 

doctor hopes (B) / that he will go into (C) / remission soon. (D) / No 

Error (E)

A) The cancer patient is comparatively better

B) today and the doctor hopes

C) that he will go into

D) remission soon

E) No Error

Correct Sentence:

The cancer patient is better today and the doctor hopes that he will go 
into remission soon.



At the age of twenty, (A) / he became Bollywood’s (B) / 

one of the most (C) / sought actors. (D) / No Error (E)

A) At the age of twenty

B) he became Bollywood’s

C) one of the most

D) sought actors

E) No Error

Correct Sentence:
At the age of twenty, he became Bollywood’s one of the most sought-after actors.



Select the most appropriate option to fill in the blank. 

This visit will not interfere ________ our plans. 

1. from 
2. with 
3. into 
4. at 

Ans :- 2



Given below are four jumbled sentences. Select 
the option that gives their correct order. 

A. Ben was eating an apple, and seemed to be in 
high spirits. 

B. Ben Rogers came into view presently, the very 
boy whose ridicule he had been dreading. 
C. Tom went on dipping the brush into the paint 
and whitewashing the fence, and paid no 
attention to Ben. 
D. Tom took up his brush and calmly resumed his 
work. 

1. CDBA
2. DBAC 

3. DCBA 
4. CBAD

Ans :-



Read the following passage and fill in each blank 
with words chosen from options given. 

It’s a magical sight: Just as the light begins to 
vanish, thousands of tiny penguins waddle 
______ (1) the surf on an island in south-eastern 
Australia, then ______ (2) the beach and along 
well-worn paths toward ______ (3) burrows. The 
“Penguin Parade” has been a major attraction 
since the 1920s, when tourists ______ (4) by 
torchlight to view the nightly ______ (5) the birds 
— the world’s smallest penguin breed, with adults  
average 13 inches tall.

Select the most 
appropriate option to 
fill in blank No. 1

1. stand off 
2. passing off
3. far off 

4. out of

Ans :- 4



It’s a magical sight: Just as the light begins to 
vanish, thousands of tiny penguins waddle 
______ (1) the surf on an island in south-
eastern Australia, then ______ (2) the beach 
and along well-worn paths toward ______ (3) 
burrows. The “Penguin Parade” has been a 
major attraction since the 1920s, when 
tourists ______ (4) by torchlight to view the 
nightly ______ (5) the birds — the world’s 
smallest penguin breed, with adults  average  
13 inches tall.

Select the most 
appropriate option to 
fill in blank No. 2

1. move out 
2. move up
3. moves on 

4. moved to

Ans :- 2



It’s a magical sight: Just as the light begins to 
vanish, thousands of tiny penguins waddle 
______ (1) the surf on an island in south-
eastern Australia, then ______ (2) the beach 
and along well-worn paths toward ______ (3) 
burrows. The “Penguin Parade” has been a 
major attraction since the 1920s, when 
tourists ______ (4) by torchlight to view the 
nightly ______ (5) the birds — the world’s 
smallest penguin breed, with adults  average  
13 inches tall.

Select the most 
appropriate option to 
fill in blank No. 3 

1. their
2. those 

3. These
4. this

Ans :- 1



It’s a magical sight: Just as the light begins to 
vanish, thousands of tiny penguins waddle 
______ (1) the surf on an island in south-
eastern Australia, then ______ (2) the beach 
and along well-worn paths toward ______ (3) 
burrows. The “Penguin Parade” has been a 
major attraction since the 1920s, when 
tourists ______ (4) by torchlight to view the 
nightly ______ (5) the birds — the world’s 
smallest penguin breed, with adults  average  
13 inches tall.

Select the most 
appropriate option to 
fill in blank No. 4 

1. was lead 
2. had led 
3. were led
4. were leading

Ans :- 3



It’s a magical sight: Just as the light begins to 
vanish, thousands of tiny penguins waddle 
______ (1) the surf on an island in south-
eastern Australia, then ______ (2) the beach 
and along well-worn paths toward ______ (3) 
burrows. The “Penguin Parade” has been a 
major attraction since the 1920s, when 
tourists ______ (4) by torchlight to view the 
nightly ______ (5) the birds — the world’s 
smallest penguin breed, with adults  average  
13 inches tall.

Select the most 
appropriate option to 
fill in blank No. 5 

1. shining of
2. arrival of 

3. playing off
4. going of

Ans :- 2



Identify the best way to improve the underlined part of the given 
sentence. If there is no improvement required, select ‘no 
improvement’-

There was a time when it was fashionable to have a dainty dog, 
like as the poodles or any other tiny creature as a pet.

1. like as the poodle
2. such as a poodle
3. No improvement.
4. much like a poodles 

Ans :- 2



Identify the best way to improve the underlined part of the 
given sentence. If there is no improvement required, select ‘no 
improvement’-

The vicious cycle of poverty refers to the situation where those 
who are poor will trapped in poverty. 

1.would be trap 
2. will remain trapped 
3. No improvement. 
4. were trapping

Ans :- 2



Choose the most appropriate option to change the narration (direct / 
indirect) of the given sentence.

The RWA members said, “We want to see the audited accounts before we 
make more payments.” 

1. The RWA members are saying that they want to see the audited accounts 
before they make more payments. 
2. The RWA members said that they wanted to see the audited accounts 
before they made more payments. 
3. The RWA members said that we want to see the audited accounts before 
we make more payments.
4. The RWA members said we wanted to see the audited accounts before 

we make more payments. 
Ans :- 2



Choose the most appropriate option to change the voice (active / 
passive) form of the given sentence. 

The monsoons spur the trees to sprout new leaves. 

1. Trees were spurred to sprout new leaves by the monsoons. 
2. The monsoons will have spurred the trees to sprout new leaves.
3. Trees are spurred by the monsoons to sprout new leaves. 

4. The monsoons are spurring the trees to sprout new leaves. 

Ans :-3



Given below are four jumbled sentences. Pick the option that 
gives their correct order. 

A) Though everything was on the up and up for Holzman, yet 
… something wasn't quite right. 
B). At 19, he enrolled in the Culinary Institute of America 
before heading to the West Coast to cook for such well-
esteemed restaurants as Palladin, Napa and Aqua.
C) . He got a little fed up with the kitchen and started to feel 
that he wanted to do something different with it. 
D). Holzman, a well known chef, started his career at the age 
of 15 when the prodigy began cooking under Eric Ripert at 
the iconic New York restaurant, Le Bernadin. 

1. DBAC 
2. ABCD 
3. DACB 
4. ACBD

Ans :- 1 



Select the word which means the same as the group of words 
given. 

proceeding in a gradual way and secretly intending to cause 
harm 

1. benevolent 
2. Malevolent
3. solvent
4. insidious

Ans ;- 4



Select the word which means the same as the 
group of words given.

a private conversation between two people 

1. monologue 
2. tête-à-tête 
3. Dialogue
4. sermon

Ans :- 2



Select the most appropriate option to fill in the blank. 

The ______ speech did not impress the audience as they could not 
really make out the focus of her discussion. 

1. contagious
2. concurrent
3. contaminated 

4. Convoluted

Ans :- 4



Find a word that is the synonym of

diminutive 

1. petite
2. expeditious
3. dangerous 

4. Fallacious

Ans :- 1



Identify the word that is misspelt.

1. questionnaire 
2. hierarchy 
3. Liaison
4. millennium

Ans :- 4



Identify the word that is misspelt. 

1.Exhilaration
2. idiosyncracy
3. Recalcitrant
4. conscientious

Ans :- 2



Select the segment which has an error.

Our most memorable meeting with Spielberg happened while 
we were at the Berlin Film Festival in 1977, where the film 
‘Shatranj ke Khilari ‘were being screened as India’s official 
entry. 

1. Our most memorable meeting
2. while we were at
3. where the film 

4. were being screened

Ans :- 4



Find a word that is the ANTONYM OF

piquant 

1. pungent
2. interesting 

3. bland 
4. Peppery

Ans :- 3



Select the word which means the same as the group of words 
given. touching along the side or boundary 

1. inconspicuous
2. unpretentious 

3. Harmonious
4. contiguous 

Ans ;- 3



Select the word which means the same as the group of words 
given. 

The exact opposite 

1. prosthesis 
2. Aesthete
3. analogous
4. antithesis 

Ans :- 4



Find a word that is the synonym of 

mercurial 

1. interchangeable
2. predictable 

3. Permanent
4. volatile

Ans :- 4




